NEED TO FIND GIVEN FORMULA NEED TO FIND GIVEN FORMULA

DEGREES CENTIGRADE DEGREES FAHRENHEIT C=.56 (F—32) RaTIO HiGH & Low RPM RATIO=
DEGREES FAHRENHEIT DEGREES CENTIGRADE F=18xC+32 FPM DIA (INCHES) & RPM FPM=.262 x DIA x RPM
HP, RPM, PiTcH DIA (IN), RPM FPM & DIA (INCHES) RPM= ———

OVERHUNG LoAD OHL =

S A DIAMETER (INCHES) FPM & RPM DIA= 2

HP, RPM, PitcH RADIUS OHLs Shaft Torque febss xF

(IN), OHL FacTor (F) Pitch Radius (IN) BELT LENGTH SHEAVE DIAMETERS (D +d)1.57+2CD
& CENTER DISTANCE

OVERHUNG LOAD (OHL) FACTORS (F) HORSEPOWER TorQue FT. LB. & RPM Hp=T

OVERHUNG LoAD

Chain Gear V-Belt Flat-Belt TorQuE FT. LB. HORSEPOWER & RPM Te——
100 125 1.50 2.50 TORQUE IN. LB. HORSEPOWER & RPM T= x50
CONVERSION FACTORS - ENGLISH TO METRIC HorsePOWER ToRrQUE IN. LB. & RPM HP- —
WEIGHT HORSEPOWER Forck (LBS) & FPM HP-= L2585
IMPERIAL TONS (1) X 0.91 = METRIC TONNES (T) OUTSIDE DIAMETER PITcH DIA &
.45 = o
POUNDS X 0.45 = KILOGRAMS (KG) (OD) ADDENDUM (ADD) OD=PD+2(ADD)
LENGTH c
INCHES X 25.40 = MILLIMETERS (MM) 'RCUMéERENCE OF DIAMETER C=31416x D
INCHES X .0254 = METERS (M) A CIRCLE
poves prondmeren | SamorTm | oo
HORSEPOWER X 746 = WATTS (W)
HORSEPOWER X .75 = KILOWATTS (KW, PD OuTsIDE DIAMETER (OD) PD-OD— 2
POUND-FORCE X 4.4448 =NEWTONS (N & DIAMETRICAL PiTCH (DP) I
POUND-FEET X 1.356 = NEWTON METERS (NM
CIRCULAR PITCH DIAMETRICAL PITCH (DP) CP=—

RULES OF THUMB - APPROXIMATION

DIAMETRICAL PITCH NumBeR oF TEETH (N) DP- N

+ AT 230 VOLTS A 3 PHASE MOTOR DRAWS 2.5 AMPS PER HP.
+ AT 230 VOLTS A 1 PHASE MOTOR DRAWS 5 AMPS PER HP.
+ CONSTANT TORQUE IS WHERE REQUIRED HORSEPOWER VARIES DIRECTLY WITH SPEED.

+ AT 1800 RPM A MOTOR DEVELOPS 3 FT. LB. TORQUE PER HP. & PITcH DIAMETER
(1 HP = 746 WATTS)

MORE QUESTIONS? REGISTER FOR GEAR SCHOOL!
WWW.HORSBURGH-SCOTT.COM/PRODUCTS-AND-SERVICES/GEAR-SCHOOL.PHP

H&SX HORSBURGH & SCOTT H&SK HORSBURGH & SCOTT

DELIVERING THE DIFFERENCE DELIVERING THE DIFFERENCE





